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QUESTION 1

At the Initiative Horizon, the solution owner using iterative planning principles decides to plan for a period of:
A. 6-12 months because competitive analysis requires thorough analysis

B. 1-3 months because it can be determined if needs are being met

C. 3-6 months because stability is required for long term planning

D. 1-2 weeks because it aligns with the increments delivered by the team

Correct Answer: B

Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-MemberCopy.pdf (46)

QUESTION 2

A team has been delivering a steady stream of small value increments towards a goal for 4 months, and has completed
several solution components, with several still potentially doable. The solution owner examines the reactions to the
delivered components from customers, and decides which one(s) the team will do next. The solution owner is
demonstrating:

A. Adaptation to revised strategy

B. Change in response to feedback and learning

C. Action in response to activity

D. Maintenance of solution alignment

Correct Answer: B

QUESTION 3

Strategic decision makers are considering large amounts of complex information covering many different areas. To
reduce the information to a manageable level of complexity, they decide to use the following:

A. Reduction

B. MoSCoW approach
C. Models

D. Filtering

Correct Answer: C

Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-MemberCopy.pdf (35)
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QUESTION 4

The team is assessing feedback from the work that\\'s been completed. After some discussion they realize this feedback
can be used to assess the remaining components that are yet to be built. Specifically, this feedback can be used to help
them determine if the initiative\\'s remaining solution components are:

A. Impacting other initiatives

B. Supported by management

C. Likely to be completed

D. Still appropriate

Correct Answer: D

Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-MemberCopy.pdf (47)

QUESTION 5

While discussing the Business Analysis Approach, decisions are made about which methodology or approach to use for
the initiative being considered. These discussions are happening at the:

A. Feedback horizon
B. Initiative horizon
C. Strategy horizon
D. Delivery horizon
Correct Answer: C

Reference: https://www.agilealliance.org/wp-content/uploads/2017/08/AgileExtension_V2-MemberCopy.pdf (133)
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